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1. HTE (8/RE54, 3£307)
(1) :mﬁﬁﬁﬁﬁuxx—Zuw+uyy=OH‘]%'§i“% , FBRER

(2) ZHBHBNHEVME B u, =u, +u,, u_,=x" (x+y),u|,=0 KE

ulx, y,t) = 0

(3) AFEVILERBY =u,, -1<x<1,t>0; u| o= x*ul,=cost,ul, =€ B ux,t) ¥
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(4) TEZHEBAERAEM BRI LWL u(x, p,2) = 3(x> - y?) + 1 A 0 B RAE

2

(5) —#E Laplace B THRE{E & —Au = Au,x € D = (0,1)x (0,1);u,,= 0 {1 B/ IMEFAEE

2

(6) WAFLET Ry, +uu, =u MARKERTEY, =v H—WHEHRE

ru,, =u_—t'sin(27x), 0<x<1, >0
2. (10 %) RE—HFSAEVILERE u| =y, |.,=0

{u 'x=0= u 'x=l= 0

3. (104) REEDcRA R, 0(x)20, EH: =HEHTEYELRZ

(u, =Au, xe D, t>0
u It=0= ¢(X), u( |1=0= ‘//(x) H‘]é.%ﬁﬁ%gﬁ_‘/\ @
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4, (109)) iFH: HEMc<r, B KM, N—gR EYLENE
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U =u +cu, 0<x<l,1>0
U= p(x) HAR R tim w(x,1) =0,

u |x=0= u |x=|= 0

5. (10 %) H Fourier %ﬁ*ﬁﬂﬂﬁﬁ%}]ﬁﬁ%ﬂ{u’ =u, +u +u+f(x,t), xeR, >0
u|z=0=(p(x)a XER )

6. (104 X DR m22)H R, ux)eC*(D)NC(D) &

Autu—u® =
{ wru-w =0, XD Mg, ER: Fmax | hGIS1, Wuoi<lxeD.

U |op=h(x)
7. (10 %) BEXHDcR n>2) B ,u(x)eC*(D).,
iFER: —Au>0% D PR B AN A EENIR B, (x)c DA

u(x)2

[, oy ¥
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8. (104)) HHBEXE D= {x=(x,%,%) R’ |x,x,x,>0} f#) Green R G(x, y)

Au=1,xeD
u&wﬁ"ﬂ@{u |aD= | Eﬁﬁgu(‘ﬂ 0
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1)Laplace BT HIMRAMRIEX: 5 12,0, 1 &
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18 ,0 1 o, o 1
A, =——(r*= —_— — )t ———
Pt ar(' ar)+ r’sin@ ae(sme 60)+ r¥sin’ @ 0¢"
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2) Green B—2AR: [ vAude=| v2LaS | Vv Vudes nBEREE S(r= e

\ 1 _
3) MG EEAM: V(x_y)zim\x_y\ (n=2), V(x_y)=_m (n=3)

4) =ZEEa AR Kirchhoff A3: xeR’, >0

1
4rc’t

J,  vOMO <[ #aso)

u(x,1) = Arcc? Of 5.t

oG(x,Y)
5) Poisson AR u(x)=| G(x) f(y)dy+§aD¢(y)——5;——dS(Y)

6) R"H Fourier Z# 53R #t:
f g, Fgl) = [ g6 ds
FIF1E) = f(©) = [, fe™dx, FI® = e
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